[ BEFXRABH >—-bH ]

1. 810158k 2024 £ 3 H 15 H YERY
_ _ _ e s 19
B HRa IR 275 i wEs | A

il #R AU, T, s, SRk, <7552
EI‘L oi TG \ L_.’_ 5 “L_: 8 nJ M - - o —_ e —_ Y —_-— 5. i
R MAE5Dh, TSN CEMIMITE ORI THEC, BHERTEVRES, B S EREEESR
3, fiLENS. AT, BIMECAISECERE TR S e . IR
2L TR GBDEEY h—t LS = Rt T UTRHER(CEAZ I TVET, BEIRRICELDETH, F 1 BREZHRITHS
m2rs| D0 IR = S OIFE D\, B LI5S UHERILTY ., REE. SvJ)—=, BHEEET
I, BEEFIEE53A. LOBHSZREEZELLTOE 2 it Rl s .
: — R =, BARBEDPTVTT, RICED—BOTE- LRI NIHESALA 1 AN
I, TEEVEMESDD. FITHLHLELERLWVZESE BB DR B (0TS
HZBVEEET, TATEZIMHIT EADEY - - e °
ZRAUB 2 D=2 PEETY .
2 BB
EFR A it e A
ERRE o LA : IT 8
A 7 I ESRERS I C THEZAa 57
HRRIDTES EEY o7zt (4)
FEFREARA N
SR mwmwmomaer Ony 0 O%L =% B8 8:00 ~ 17:00  |2n
@ ~o
H=n e @ -
np 7|8
. | I CTEF. I TEH. 3D+vR AN ® ~
NS
@ ~
@ ~o
L SR ABFEOIEISZIT LW ER, SKERE OB LE - 820 (505%k) (CDOWTTE ABEVWET, )
EIE-85H
GIED)
3.5EEMHS
X9 / FRE KZ(FEE) /K () =% (3128) Ul J5—> —m%KEgEE IN—REE
KA (£) 1 £ 1 & 1 £ 1 % e
BHAK4G 230,000 M 220,000 M 210,000 == 250,000 = M,/H
F M M ™l ~ 350000 [ ~ M,/ H
S FH M M M M s
FH M M =] M =
el 230,000 M| 220,000 M 210,000 M i i
ES(FIFEEERE) HY (£ 2@, &t 1.0 ¥8) O7xiL
4 EuEAE 5./ - 45 0FEH
JEFRfiZRE 8 EES (N—MRE) HABIRHIE :
—— REIXS R EREE R =
BENFH R#& O Bz o EFAain H ) Okl
AE ES s Of O T4%
BAZHS| O &8 3] O &8 O F8 LI FRSERERS
#A | ERMABZR 86~100 H = ( 0~5 ) BSROTRE
20 sHAL VR — O&tAhL >y &—
O#Ksk O>7F O #isx o>7hk
AL 0 H H
BHRKIR | 67 BfB% 10 =] H
BN 20 =] H
phasess BEAE | o»Y O7%iL Od O7%iL
HME;‘F MERE | OHY O#L O O#L
SR EEAE | ohY O%L 050 O%&L
EH 5 K OER O 5K
BH | ARG B4 O B OE4% O 8%
B4 JiEES O 1t O 2k O b
i&ﬂ%ﬁﬁ%ﬂr‘a‘ ) LT7x L LIt LI78 L
EEH 65 % 3
BEHR 70 ®ET RET
iR RET RET
s A AR B s O%L O%F (»B) OKL




